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= 19,969 4,969 15,000
< 25,985 7,985 18,000
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Jlzce SEZEEd NI (AHsIE-H) 5,791 5,791 0
= 2,895 2,895 0
< 1,448 1,448 0
i 1,448 1,448 0
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= 2,395 2,895 A 500
< 1,198 1,448 A 250
= 1,198 1,448 A 250
03 &AL S HI 4,791 5,791 A 1,000
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= 2,395 2,895 A 500
< 1,198 1,448 A 250
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06 282 32,000 30,000 2,000

OEZ4di2s XNyl 243 32,000 30,000 2,000

< 16,000 15,000 1,000

2 16,000 15,000 1,000

THoH 918 X 2 BBl (o8 X)) (XI2) 3,300,000 200,000 3,100,000

= 1,400,000 100,000 1,300,000

< 420,000 30,000 390, 000

N




2N

E: oY 2 2N
Sl W=D g CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
o 980,000 70,000 910,000
£ 500,000 0 500,000
401 Al HIZ 201 I 3,300,000 200,000 3,100,000
= 1,400,000 100,000 1,300,000
=) 420,000 30,000 390,000
= 980,000 70,000 910,000
= 500,000 0 500,000
01 A& HI 3,298,000 199,000 3,099,000
OXGtali ot SMEXAE EXN(HA) 500,000 0 500,000
= 500,000 0 500,000
Oxd Mol X 2EHI 2,798,000 199,000 2,599,000
= 1,399,000 99,500 1,299,500
= 419,700 29,850 389,850
s 979,300 69,650 909,650
03 Al S THHI 2,000 1,000 1,000
O=d THoll ?I E X =& Hl 2,000 1,000 1,000
= 1,000 500 500
< 300 160 150
i 700 350 350
otd &l 11,358,300 8,630,967 2,727,333
= 5,516,400 4,000,000 1,516,400
Xl 409,000 409,000 0
S 1,303,280 1,000,000 303,280
s 4,129,620 3,221,967 907,653
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= 200,000 200,000 0
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s 97,163 68,037 29,126
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=) 431 0 431
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=) 12,000 12,000 0
s 144,001 116,431 27,570
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AU 70,200 55,200 15,000
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201 Ler2 | 50,000 35,000 15,000
02 B2 34,000 19,000 15,000
OrgEs &R 34,000 19,000 15,000
—A584 A& 15,000 0 15,000
HeES(AHEZY) 170,919 140,841 30,078
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